Oth (ys/) 20133 90 L9 e alciloat J s 4 o
15,/ (S 220 1=y

(Answer S]leet}téﬂ.}[ﬂr:ﬁ&.n.f 0w gﬁ"'ﬂhrt{hf[ﬂu{uw L D{C|BJA] Ufﬂﬂsé.dé:e{-mf;%dhﬁid.d]
B e sty pvrne St i e fABODuimpL Lozl vy

(d) (c) (b) (a) = Uy ;
G | g | 4 Al e b YHITL Uty | @)
Fr | e | oL < Qe uiel=2L 31./2 | Gi
sw/) | wk v o a2l Pt | (i)
b | T | BNA DNA - s Z AL (iv)
o | A (] A | cdedMe e 0
SFT Tugidh | o6 | thwsef —abre¥ i | o)
Jz b
1 s o s RT3 | (vil)
£ M| o S & digdgt i pd et | i
4 3 2 I G tbord & 3ULA| ()
T L7 A Sl - gl Al | (
| ey | 4 % e drgeste 268/ | (i)
4 3 2 1 _.;.mr(’fgﬁm;;ﬁ (xii)
#5200 | 2F1600 | ¥ 1200 | &K 1000 _.;_.Jfémf AU | (i)
by pbh¥ | gy | FT | eS| o)
A & JH At S SUL , W

VP2 A (717 e e L) 300 -2

Ll i Tl B i)

feslpeerll (iv)

ety Bsasiy £y ) (vi

Zr e Il (i) i )
_Qéfaglﬂﬁfﬁfﬁlg&‘jfc_.uﬁgf_j@u
iuf?hiuﬁié (ii)

a7 (iv)

LML (i)

St e o L (5 B i)

L fela g o e i st

_u.."ggal.mfmfi;g’; 2 (i)
..u:.'?“ﬁﬁuz'ﬂj.rkdhg = }ﬁg (iv)

el Sl
AU A il

(vi)

MLl e S ®
te IWVLSAIT (i)
e PR RSN SLL NSk )

S PSR A (vi)
*L;;'@w_' U 2 v

-13

Se s/ We GHEEL ()
et/ B 0e Gi

e st SEAS ()
SIS s f (v
T&.{jj}ﬁ{éﬂf‘"ﬁ.;h]}@" By (ix)

-4

Akt SIS AP )

LS Srebarity i)

-L-f/ré-'k‘f":-—g#-.ﬁ (v)

T:,'.J;’I_._-(Lﬁ 'mli':i (vii)

) ) ?ﬁ;ﬁh’kmﬂﬁ,ét@l (ix)

, (_@ﬂﬂﬁidﬂrﬂ-&fépﬁia !}lrc,f::_,[jl() W D) el b | iy 57
[Iate Ll IS A Ao () S

iu:"o‘fawdﬁ_p{%@;ﬂ Wi ()
Lt IS et e SR Q) fesbalphe S scit X () 6
eobnfle pLN82" (L) gL S L S ()
Sl () S WL s () 8
i spde B (L) LA () 9



